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General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the sections.
(ii) All questions are compulsory.
(iid) There is no choice in any of the questions.
(iv) All questions of Section-A and all questions of Section-B are to be attempted separately.
(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in one
word or in one sentence.
(vi) Question numbers 4 to 6 in Section-A are two marks questions. These are to be answered in
about 30 words each.
(vii)  Question numbers 7 to 18 in Section-A are three marks questions. These are to be answered in
about 50 words each.
(viii) Question numbers 19 to 24 in Section-A are five marks questions, These are to be answered in
about 70 words each.
: i i ion-B are i 1 .
(ix) Question nyml_aem 25to 33 in Sedlm Y multiple choice questions based on practical skills.
Each question is a one mark question. YOu are to select one most appropriate res p
the four provided to you. P ponse out o
i i ion-B are questj; ;
(x) Question numbers 34 to 36 in Section questions based on pract i -
is a two mark question. practical skills. Each question
29 ¥ W YeFrelel w1 Aufad g fafea)
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i ChcanbEderived from butane.
Write molecular formula of alcohol W \’
S
: et s o Rp R B7 Jgamete? \»
How many chromosomes are present it ,
1 :
3t e A € ? ‘
What is meant by recycling of wastes ¢
2
% ST % wradA & fraw fafed |
State the laws of reflection of light.
5 W%W%mmmﬁ-wmwmfawmﬁ? 2

The 3 R's to save the environment, can make a difference. What do these R’s refer to ?

6 wmmﬁ@mﬁ%mﬁﬁmmmﬁmml 2

List any four practices by adopting which will help in the conservation of environment.

7 mmﬁmﬁmmamwﬁaﬁm%i 3
(i) =g s &1 AW a1 g fafanl
(i) mmﬁmﬁmmm%mqﬁﬁmm|

Hydrogen is passed through vegetable oil in presence of the catalyst nickel.
(i) Name the process and write the chemical equation.
@ Write one difference between the physical properties of reactant and product in this
Teaction.
8 H(1); Be(4); Na(11); Mg (12 # &' 3
() 3 @l w1 gm TR oA Tt
(b) ¥IF T R wyE vem fafay)
© ¥ 98 % U-uE o aE W AW ferfag
Out of the following elements : ;
H(1); Be(4); Na(11); Mg (12)
(a)  Write the pair elements having similar chemical properties.
(b) state the group number of each pair.
()  name one other element belonging to each of these groups.

9 Frer il &1 S A a0 e yapmatores wqE # e HA 3
@  FERE o
() ST

(i) e

gﬁ-m& structures of the following compounds and identify the functional group present in

(i) Butanoic acid
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(ii) Bromopropane

(i) Butyne
F@_ﬂaﬁﬁmﬁwm&n,c,piﬂfl’———w
g — 16 17

iy e |
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(d) AT fFER FweEn?
()  ASRD w2

() R W agara § firen 9@ 9w ) e

The position of some elements A, B, C, D, E, F, and G in the Modern Periodic Ta

under,
Group —» 16 17 18
Period |
1 A
2 B C D
3 E F @

(@) In which group are inert elements placed ?
(b)  What type of ions would B, C, E, and F form ?
properties similar to C ?

() Which element would have chemical

(d)  How many shells would A have ?
(e) What is the similarity between A and D ?
) Identify the most abundant element in the earth’s cryst

W fobg wahr ddf  fafore sl ) frafaa =@ )
Explain how do proteins control the characteristics in plants ?

(@)  3FFT & wferer fafad |

(b) ﬁqﬁaﬁmqﬁmwww%ﬁml

ble is given as
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(@)  Define g;erm‘ination{ _ _
(b)  From the diagram given below /idenhfy the incorrectly labelled parts.
9& :b_‘_. NMisle geres coll
:'.— .‘1 !}!. - e Sepig
\ H-g'—-—-r-n-n wraim

/] ",‘1*\.——-—— Puolten tubs
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Evolution of wild cabbage!
(@ e nfl, o M, s, s

b fFRATRIsMIEa@)
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. Then b o
. _4g of years y a
. ousan®” . characteristi
Humans have cultivated the wild cabbage ot;a;ned- write the ristic feature
selecting the traits a variety of plants have
each of the following.

y
“of

Lo
Cabbage
Evolution of wild cabbage!
(a) Kohlrabi, cauliflower, Broccoli, cabbage.
(b)  Since how long cabbage has been cultivated for ?

14 s Y e S e A g, o o o S A s s
feman <man ® 1
(@) 39 Wi &1 vE=ta)
(b) & 5 WiHTT AR & Toan ST ? 3T I HWO Hied e
(b) 9 WiHA1 & &1E A I AT |

Some plants do not produce seeds. For such plants parts like roots, stem and leaves are used
to develop into new plants.
(@) Identify the process.

(b) Which type of reproduction is it- sexual or asexua] ? A .
(c) Give any two examples of this process. nswer with reason.

15 g fom 1 Sonfi SRR R T T e vy e se e @@ )
Define the term 'evolution'. "Evolution can not be equated wit, progress". Justify it
55 . Jus 1

16w gfe @ st §2 Q w fafed R s gy gy .
e T &2 1 el fr @ o
What i nt by Presbiopia. Mention two causeg _
how itl?sncz:ectezl(. due to Which presbiopia occurs. Explain

17 60 cm mm%mmﬂ#wzumgt@ .
¢ ey 1 | 1 0 SR ST T 9y ¥ <o gy g e R

An object is placed at a distance of 20 cm from a g e
Find the position and nature of image formeq by ® Mirror of radius of curvature 60 O

produced by mirror. the mirror,  Also find magnificatio®
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(b) o g wrfafy @ 3 = Harmful effects of Smoking on human healty in your

You plan to organise a -:ampalE“

neighbourhood areas and guide ¢ you will give to convince the people about harmful effects -

(a) List any three reasons tha ’
of Smoking on human health ted with such approach ?
(b)  List any three values that are inculca

" i i & 3 difam
uaﬁmmst.'ﬂmm#m“ﬁqm :
(@)  Li® e famm fafag)

(b)  Li®t wyg wen fafaw)

(€)  Li® wamm: 3 Fifaw)

() s g frfifa s @ g T

() v gw ffefn faedl ws hfs o A ferfean s

“The atomic number of Li is 3.” On the basis of this information answer the questions that
follow :

(a)  Write the electronic configuration of 1.i

(b)  To which group Li belongs.

Q) Find the valency of Li.

(d)  Identify the type of ion it will form.

(e) Write down the formula of one of the compounds formed by it

Fuifsfa wee damma #4976 03 ¥, wwm fafige @ & v ® wowm |} FEE)
Give reasons why acquired characters are not inherited  Explain with the help of example of

mice.

(i) ﬁﬂﬁﬁiﬁ'{ﬁfﬂfmaﬁm: '
Tty Coes”
G g
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\dentify the process depicted in the picture 6V€" 22"

e e

I Parent cell 2 Nucleus Jivides

TG 5y L3

3 Cuvoplaim divides 4 Two daughter cells

(a) Name the organism that divides by the above process.

(b) Compare the above process with multiple fission-
(c)  State the type of reproduction in the above process and define it.

(ii) Differentiate between fission in amoeba and leishmania.
(a) U e ¥ f R YT @ sTqada qu 3 forn fRvor st St e
()  mfaa fam ()  frfa feeeor aen

(ii)  fa=em @O F AifE B

(b) S F % R WO YRR B T g A @ A2 g it i e &2
T& @ & TEdl 4 GHeRy |

(a) Draw a ray diagram to show the refraction of light through a glass prism. On the

4 diagram mark.

(i) Incident ray (ii) Emergent
(iii) Angle of deviation gent ray and

(b) What will happen when white light is focused : What is thi
phenomenon called ? Explain with the help of a diagram, P4 (ghaas P b

()  ove g sl e i A i S e Fif
¥ foru fipror faa Eifae f&
(®) Egﬁm T I T Y i fon e & o
(i) g@mﬁ?mmﬁﬂﬁfﬁ%
(ii) Y@ W 3mfd e ¥
(a) Write any three differences between concave ap,

(b)  Draw ray diagram to show what happeng todaoonvex mirror ?
convex mirror, if it: ray of light after reflection from 2

(i) is incident parallel to principal axis.
(i)  incidentat the pole.

(@  aE vefia w0 ¥ fg A TR O Y oy

o) e o S TR IR ey 4 s o
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(a)  Describe with the

L . T " Y - : :
= B - P
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AC‘BSCE Coacﬁlng .rof! W‘ﬁma_ﬂm; —‘—{—écT_ o

wwadi that white light is composed of

an activity to show

of diagl‘ﬂm
" how different colours ofspectrum can be

ours. . show
(b) ﬁrt;nct?\le help of labelled diagra™
recombined.

w1/ SECTION - B

1 figor 1
i ” mmﬁﬁmwm?ﬁﬁmw
gt A3 ot fo g i iES TN AT T

(d) Wifeaw gEgledRs T 9T _
While preparing soap in the laboratory, Sonia added “X” to vegetable oil and st:lr_red the
mixture. She observed that the test tube became hot, then she added sodium chloride and
after sometime “Y"settled at the bottom of test tube.

The substances “X” and “Y” are:

(@)  Sodium carbonate and soap

(b) Sodium hydroxide and glycerol

(c) Sodium carbonate and soap

(d)  Sodium hydroxide and soap

gt SfufEa R 1
(@) FE H & fadsE)

(b) I I &R it |

(c) 1 F1 3reafadsE |

(d)  TE W SFEAGSAR |

Saponification reaction is :

(a)  Alkaline decomposition of fats.

(b)  Alkaline hydrolysis of fats.

(c) Acidic decomposition of fats.

(d)  Acidic hydrolysis of fats.

fore F § o oo & e 87 @ oA FeR Tt A
() HATHEEETHAFER (b)) 9R v

€ Hifead FEe @ 9
Name of the salt from the following which mal AL
the water hard is -



28

23

30

-

b

— = = & - - N

r \'""‘-1 -‘_q__‘ [ - _— —— ——— — -

(a) Cﬁlcium ide
hydr ; or
©  sodium ca);-bo(:\ga‘;: Carbonate ((12) P"”,’fz‘ picarbonat®
| T AT I T e,
T O el e g e s xmam'@f“ W

(b) A TE A atfu
() 2 e & ww wwm
(d) =\ * ol | @i

A student uses two convex lenses separately, one is thicker a':;j Ost?reere:'nsb usiflr’ tt)?)t?lbl?n;
sharp image of a distant tree. After getting the clear image on ;\ i anyd the Ecreen is:
separately, he is most likely to observe that the distance petween the 3 '

(@) greater in thicker lens.
(b) greater in thinner lens.
(<) same in both lenses.

(d) independent of thickness of lens.

@mmmﬁamﬁmmmmmmaﬁﬁmq&mmmtnﬁm 1
wfafea we & & ford 39 feern =fed
(a) Fade YU HI 9IS |1 TS @l S

b) W R A g
(©) 42 a1 g4 &1 fa= @
(d) ﬁammﬂﬁﬁ?ﬂaﬂ'{l

A student is determining the focal length of a concave mirror by obtaining a sharp image ofa
distant object To obtain the image on a screen the student should move the.

(@) Mirror slightly towards the screen.

(b)  Screen slightly away form the mirror.

(<) Screen and the mirror away from .the object.

(d) Screen and mirror towards the object.

mmmﬁa#uhﬂ‘lwﬁzfm“ﬁ&mm

WY IRfga w0} F wam § 9w e A, L

Tl & SFTER ST F oy
B T T 8 T ¥y W e i g wrwin e
(i) (Hwﬁﬂhmﬁm) i
A 20°, 45°, 70° s =
B 20°, 45°, 70° 1wd® |
C 30°, 45°, 60° sg® 0 T—0
D 30°, 45°, 60° _|
o BT SR, T B
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d D
B O _yofard of light through a rectangular glass slab, four
{;)u,, Apm.mf:ft on tracing ¢ Pﬁ‘ wing given values of angle of incidence and the dj
ex follo distang
students A, B, Cand Dused 17— .
between the feet of @_(,_Bl_n_{__,.n—; Distance between two pins
Student | Angle of Incide (Towards Incident ray )
o ——fm
B WA e
C 30°,45°, 60 __—Tm
D e LR
Best choice is that of student: c @ D

(@ A ® B (©
31 %ﬂ?ﬁwﬁﬂmﬁmﬂfrﬁm%mﬂﬁﬂ@ﬁﬂﬁﬁm%:

(@ (b)
() d TR
No. of times a ray undergoes refraction on passing through a prism is:-
(a) one b) two
(c)  three (d) four
32 o wesht F A § § v & whewrdl B 1 A0 F T AT GHET A | A A FHA Q :
(a) Y @™ (b) T, BRI
© NS ) TR, o

From a basket of vegetables, Shaurya was trying to sort out two vegetables which showed
analogy. These can be : i & :

Ea) pofato, omon (b) ginger, turmeric
c)  onion, ginger (d)  radish, ginger
33 1 & o9 H B f 1
@ ) 2 s
S @ e
Gram seed has ;
One cotyled
E:; 'Ihr(:ee cgtyle?;;ns b)  Two cotyledons

@  Four cotyledons

* N ﬁmmﬁm@mmﬁaﬁmﬁﬁumwﬁwmwm

(@) Wﬂ'x'aﬂmﬁaﬁmﬁ:?m;mmﬁwmﬂnm
() 38 W F Wl el |
fafad | mmw@gl a9 Te ¥ R T T SE

A student added too much of the
the smell of vinegar. She 4 i
formations of effervescences,

tance 'x' having

i ini a subs
g soda in a test tube containing ol sl

- that reaction mixture flow out of the test tu
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36 fpet s ¥ S I9a 9 R fafda wfafes arates, 3o erafii qon T 2 A R &
@ T R A F e & 7w

Image formed during an experiment by a convex

expe lens is inverted, magnified and beyonc
centre of curvature. The objectis placed between ;4 of the lens.
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